=
<

8 S I
= g |
2‘ 910_1:_
g S E
1072 L
107
1073 E
b
.91()‘_—_%_ L ......I L .......! LAY Y T .91()‘_—_%_
o E L T C
S S | R R Ry 7 S x
e '?1 # AP R -
E T r 0.8f
0.9t L ) | C
107t 1 2 . 10° 10t 1 2 - 10°
0 TP p (PCA tloobeamllnef) 0 TP pT (PCA tloobeamllnef)
— —MKET origmal
—e— DQM_mKFit_TToriginal-106
—«— DQM_mKFit_TTNEWHSMS95_ALLITERS-106
—— DOM_mkFit_ TTNEWHSMS90_ALLITERS-106
= £
2 e
F 3
2 =2
5 o

1072k

b

il

O

n=
o
-
o
o
o
o}
107}
1072
o L.2[0
el F
© F
x 1.1
1
0.9:
1071

1072

iy
TITT[ T TTTT TTeT

i

TJ'-:" Il

1

2 3
TP pT (PCA tjbobeamliné'f)



	Contents
	Page 1


